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1 Introduction
TP are proposed following the WF achieved in the relay AH discussion and necessary changes are updated into TR 36.826 v0.6.1 as following.
1) For simulation case 2 and 4 (i.e. UL), each RN has 1~3 active transmitting UEs;
2) For UE distribution in case 2 and 4, uniform UE distribution shall be the baseline. Other UE distribution methods may also be used in order to accelerate the simulation, such as the method in TR 36.814 Table A.2.1.1.2-5.
3) For resource schedule, regardless of the activated UE number per RN, each UE just occupies 1/3 of total BW. So the ACIR model would remain the same.

To simulate the worst scenario, the RB allocation for RUE is different for simulation case 2 and 4.

<TR 36.826 V0.6.1 Relay WI> 
6.2.1
Uncoordinated macro cellular deployment, RN at cell edge 

6.2.1.1 Network layout

Simulations are performed in the “Uncoordinated macro cellular deployment” described in section 4.4.2.1 of [5].

The RNs are located at [0.5, 1, 1.5] R (cell radius) from the eNodeB. The RN are evenly spread over a total angle of +/- 30 degrees. 

The exact distance to use is FFS and needs to be agreed in further meetings. Initially a number of parameters are used. 

The UEs are randomly located over the entire area using a 2D uniform spatial distribution.


Figure 6.2.1-1 Example of RN deployment. 5 RN per eNB. NOTE: Victim eNB not shown currently

6.2.1.2 UE location

UEs are located uniformly over the service area with [30] UEs per BS sector, i.e. per unit area of ISD^2 * sqrt(3)/6.

On average 30 UE are placed inside each macro cell.

UEs are located indoors with a probability of 80%.
Uniform UE distribution shall be the baseline. 

Other UE distribution methods may also be used in order to accelerate the simulation, such as the method in TR 36.814 Table A.2.1.1.2-5.
6.2.2
Uncoordinated macro cellular deployment, RN at regular grid

This deployment scenario uses the same assumptions as the deployment scenario in 6.2.1 with the exception that the RN are placed on a regular square grid. 4 relay nodes are assumed to be symmetrically placed about the cell center with an inter-relay node distance of 0.9 times the cell radius. An illustration of the regular grid is shown in figure 6.2.2-1.
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Figure 6.2.2-1 Example of regular RN grid deployment. 4 RN per eNB. NOTE: Victim eNB not shown currently
<New Section>

6.9
Traffic assumptions

To simplify simulations relays in the same system are either transmitting or receiving in a snapshot. I.e. one relay cannot transmit while another relay receives if the relays belong to the same system.

The case with relays in both the victim and aggressor system is FFS. Thus whether two relays that belong to different systems can transmit and receive simultaneously is FFS.

6.9.1
Simulation case 1

Aggressor: eNB and RN access side, Victim link: eNB -> UE
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Figure 6.9.1-1 Simulation case 1, eNB and RN in the aggressor system are transmitting.
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Figure 6.9.1-2 Simulation case 1, eNBs in the aggressor system are transmitting.

In 50% of the snapshots:

-
All eNB in the aggressor system are transmitting. All eNB in the aggressor system are transmitting at full BW

-
All the RN in the aggressor system are transmitting. All RN in the aggressor system are transmitting full BW.

- 
All eNB in the victim system are transmitting.

In 50% of the snapshots

-
All eNB in the aggressor system are transmitting. All eNB in the aggressor system are transmitting at full BW

- 
All eNB in the victim system are transmitting.

Throughput loss is measured in all eNB-UE links in the victim system.

6.9.2
Simulation case 2

Aggressor: UE and RN backhaul side, Victim link: UE -> eNB
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Figure 6.9.2-1 Simulation case 2. RN in the aggressor system are transmitting.
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Figure 6.9.2-2 Simulation case 2. UE in the aggressor system are transmitting.

In 50% of the snapshots:

-
In each donor cell in the aggressor system there are 3 actively transmitting RN. The 3 RN are selected randomly from all the available RN in the donor cell.

In 50% of the snapshots:

-
In each donor cell in the aggressor system there are 3 actively transmitting UE. If there are more than 3 UEs in the donor cell, 3 UEs are randomly selected that actively transmit.

-
In each relay cell in the aggressor system there are 1~3 actively transmitting UE. If there are more than 3 UEs in the relay cell, 3 UEs are randomly selected that actively transmit. Regardless of the activated UE number in the relay cell, each UE occupies 1/3 of total BW. To simulate the worst case, the RBs should be assigned to the 1/3 bandwidth closest to the victim system. 

In each cell in the victim system there are 3 UEs actively transmitting. If there are more than 3 UEs in the cell in the victim system, 3 UEs are randomly selected that actively transmit.

The throughput loss is measured in all the UE-eNB links in the victim system.

6.9.3
Simulation case 3

Aggressor: eNB Victim link: eNB -> RN
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Figure 6.9.3-1 Simulation case 3. eNBs in the aggressor system are transmitting

All eNB in the aggressor system are transmitting. All eNB in the aggressor system are transmitting at full BW

All eNB in the victim system are transmitting. All eNB in the victim system are transmitting at full BW

All RN in the victim system are receiving.

The throughput loss is measured in all the eNB-RN links in the victim system.

6.9.4
Simulation case 4

Aggressor: UE, Victim link: UE-> RN
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Figure 6.9.4-1 Simulation case 4. UE in the aggressor system are transmitting

In each cell in the aggressor system there are 3 UE transmitting. If there are more than 3 UEs in the cell, 3 UEs are randomly selected that actively transmit.

In the victim system there are 3 UE transmitting in each donor cell. If there are more than 3 UEs in the donor cell, 3 UEs are randomly selected that actively transmit.

In each relay cell there are 1~3 UE transmitting. If there are more than 3 UEs in the relay cell, 3 UEs are randomly selected that actively transmit. Regardless of the activated UE number in the relay cell, each UE just occupies 1/3 of total BW. To simulate the worst scenario, the 1/3 bandwidths are randomly assigned to the UE(s).

The throughput loss is measured in all the UE-RN links in the victim system.
<End of TP>
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